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1. Large bodies of water maintain a constant temperature because of
A.water’s high specific heat.
B.water’s high viscosity.
C.water’s high surface tension.
D.water’s covalent nature.

2. If you begin with a single bacterium that divides every half hour, how many bacteria will there be at the
end of four hours if there is a logistic population growth and carrying capacity is 256?
A.128
B.256

C.512
D.5280

3. Which of the following is NOT an attribute shared by all populations?
A.Age structure
B.Biomass
C.Density
D.Distribution

4. Which of the following environments would have the least temperature variation?

A.open ocean

B.small stream

C.terrestrial habitat

D.all would experience similar temperature variations

5. Endotherms have an advantage over ectotherms in
A tropical climates.
B.cold environments.
C.rainy environments.
D.hot environments.

6. Which of the following statements iSINCORRECT?
A.Experimentation involves manipulation to test a hypothesis.
B.Evolutionary biology allows scientists to study the effects of environmental variables on natural
selection.
C.In order to understand the dynamics of the natural world we must depend on research from both

population ecology and ecosystem ecology.
D.Most ecological experiments are conducted in the field.

7. I AL Opportunistic 19 il

A.low Ix — low mx — early age at reproductive maturity
B.low Ix — high mx — late age at reproductive maturity
C.high Ix — high mx — early age at reproductive maturity
D.high Ix — low mx — late age at reproductive maturity
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12. If community #1 has a higher Shannon_Wiener index than community #2, what does this mean?
A.community #2 has a greater species diversity than community #1
B.community #1 has a greater species diversity than community #2
C.community #2 has a greater species numbers
D.community #1 has a lower species number

13. Which of the following would be considered a disturbance?
A hurricane
B.disease
C.salinity variations in an estuary
D.seasonal temperature variations in the temperate zone

14. Corals induce release of organic compounds with “signal compounds” that alter permeability of
zooxanthallae
A.DNA
B.fat body
C.protein
D.cell membrance

15. NY[ELE JFJEJEG‘ Strong interaction = |’F| ?{}ffnﬁ?
A.Feeding activities of a few species that have a dominant influence on community structure.
B.Feeding activities of a few species that have a weak influence on community structure.

C.Breeding activities of a few species that have a weak influence on community structure.
D.Breeding activities of a few species that have a dominant influence on community structure.
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19. The competitive exclusion principle states

A.two populations can coexist as long as they occupy separate niches.
B.two populations that are competitors cannot coexist.

C.two populations that compete will genetically change over a period of time.
D.two populations that compete will increase their carrying capacity.

20. The fundamental niche
A.is the organism’s ecotone.

B.is the range of environmental conditions an organism actually utilizes.

C.is the range of environmental conditions in which an organism can survive.
D.cannot be effected by symbiotic relationships.

21. If you began with 1000 calories stored in a few blades of grass, how many calories would you expect to
be passed on to the primary consumer?

A.l

B.10

C.100

D.1000

22. Intermediate disturbance hypothesis 5 [F & Pk £l A ﬁﬁ' N[ ﬁ%?iﬁf@%ﬁ Jrjig ?
A.predation and parasitism

B.competition and colonization

C.functional response and numerical response

D.top_bottom control and key stone species
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24. When the predator population evolves in response to prey and the prey population evolves in response to

the predator. What is said to have occurred?
A.co_evolution

B.directional selection

C.predator_prey oscillation

D.Hardy Weinberg evolution

25. A survivorship curve of typeIll functional response
A.is linear
B.never reaches an asymptote
C.may result from predator satiation
D.results from a decrease in handling time
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3. T IR = 0 SRR E R S )0 H1550) -
A. Abundance :

B. Species richness :

C. Biodiversity :
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